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QUESTION 1

A new bank has decided to stay open only on weekends - all day Saturday and Sunday - and no other 

days. The bank has hired two managers (U and V), Four tellers (W,X,Y, and Z), and two operation officers 

(S and T), for a total of exactly eight full-time employees. 

No part-time employees are hired. 

Each employee works a complete day when working. 

A manager must be on duty each day. 

The managers cannot work on the same day. 

At least two tellers must be working on the same day. 

W and X will not work on the same day. 

S and Z will only work on Saturday. 

No employee can work on consecutive days, but each employee must work on Saturday or Sunday. 

Which one of the following must be true? 

A. T always works on the same day as Y. 

B. S never works on the same day as U. 

C. Z never works on the same day as X. 

D. If W works on Sunday, then Y always works on Saturday. 

E. Only two tellers work on Saturday. 

Correct Answer: E 

Since no employee can work on consecutive days, and there are four tellers, then two must work on Saturday. 

 

QUESTION 2

Donna Haraway\\'s Primate Visions is the most ambitious book on the history of science yet written from a feminist
perspective, embracing not only the scientific construction of gender but also the interplay of race, class, and colonial
and postcolonial culture with the "Western" construction of the very concept of nature itself. Primatology is a particularly
apt vehicle for such themes because primates seem so much like ourselves that they provide ready material for
scientists\\' conscious and unconscious projections of their beliefs about nature and culture. 

Haraway\\'s most radical departure is to challenge the traditional disjunction between the active knower
(scientist/historian) and the passive object (nature/history). In Haraway\\'s view, the desire to understand nature,
whether in order to tame it or to preserve it as a place of wild innocence, is based on a troublingly masculinist and
colonialist view of nature as an entity distinct from us and subject to our control. She argues that it is a view that is no
longer politically, ecologically, or even scientifically viable. She proposes an approach that not only recognizes diverse
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human actors (scientists, government officials, laborers, science fiction writers) as contributing to our knowledge of
nature, but that also recognizes the creatures usually subsumed under nature (such as primates) as active participants
in creating that knowledge as well. Finally, she insists that the perspectives afforded by these different agents cannot be
reduced to a 

single, coherent reality ?there are necessarily only multiple, interlinked, partial realities. 

This iconoclastic view is reflected in Haraway\\'s unorthodox writing style. Haraway does not weave the many different
elements of her work into one unified, overarching Story of Primatology; they remain distinct voices that will not
succumb to a master narrative. This fragmented approach to historiography is familiar enough in historiographical
theorizing but has rarely been put into practice by historians of science. It presents a complex alternative to traditional
history, whether strictly narrative or narrative with emphasis on a causal argument. Haraway is equally innovative in the
way she incorporates broad cultural issues into her analysis. Despite decades of rhetoric from historians of science
about the need to unite issues deemed "internal" to science (scientific theory and practice) and those considered
"external" to it (social issues, structures, and beliefs), that dichotomy has proven difficult to set aside. Haraway simply
ignores it. The many readers in whom this separation is deeply ingrained may find her discussions of such popular
sources as science fiction, movies, and television distracting, and her statements concerning such issues as nuclear
war bewildering and digressive. To accept her approach one must shed a great many assumptions about what properly
belongs to the study of science. 

The passage suggests which one of the following about the traditional scientific approach to nature? 

A. Scientists have traditionally preferred to tame nature rather than to preserve it. 

B. Scientists have traditionally sought to counter the masculinist and colonialist aspects of Western culture. 

C. Scientists have traditionally assumed that primates were more active participants in the creation of knowledge than
were other forms of natural life. 

D. Scientists have traditionally endeavored to conceal the role of government officials and laborers in the construction of
scientific knowledge. 

E. Scientists have traditionally regarded nature as something separate from themselves. 

Correct Answer: E 

"The passage suggests" is a clear indication of an Inference question, and we find the Buzzwords "traditional...nature".
What\\'s traditional is a "disjunction" between science and nature," "nature as an entity distinct from us." This is the view
that Haraway wants to displace. 

 

QUESTION 3

Some people claim that the reason herbs are not prescribed as drugs by licensed physicians is that the medical
effectiveness of herbs is seriously in doubt. No drug can be offered for sale, however, unless it has regulatory-agency
approval for medicinal use in specific illnesses or conditions. It costs about $200 million to get regulatory-agency
approval for a drug, and only the holder of a patent can expect to recover such large expenses. Although methods of
extracting particular substances from herbs can be patented, herbs themselves and their medicinal uses cannot be.
Therefore, under the current system licensed physicians cannot recommend the medicinal use of herbs. 

Which one of the following most accurately describes the argumentative technique used in the argument? 

A. questioning a claim about why something is the case by supplying an alternative explanation 

B. attacking the validity of the data on which a competing claim is based 
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C. revealing an inconsistency in the reasoning used to develop an opposing position 

D. identifying all plausible explanations for why something is the case and arguing that all but one of them can be
eliminated 

E. testing a theory by determining the degree to which a specific situation conforms to the predictions of that theory 

Correct Answer: A 

The author\\'s sheer purpose is to counter the claim made in the first sentence by providing another reasonor "an
alternative explanation," in option [questioning a claim about...] is words -- why physicians don\\'t prescribe herbs. 

 

QUESTION 4

Because of increases in the price of oil and because of government policies promoting energy conservation, the use of
oil to heat homes fell by 40 percent from 1970 to the present, and many homeowners switched to natural gas for
heating. Because switching to natural gas involved investing in equipment, a significant switch back to oil in the near
future is unlikely. 

The prediction that ends the passage would be most seriously called into question if it were true that in the last few
years 

A. the price of natural gas to heat homes has remained constant, while the cost of equipment to heat homes with natural
gas has fallen sharply 

B. the price of home heating oil has remained constant, while the cost of equipment to heat homes with natural gas has
risen sharply 

C. the cost of equipment to heat homes with natural gas has fallen sharply, while the price of home heating oil has fallen
to 1970 levels 

D. the cost of equipment to heat homes with oil has fallen sharply, while the price of heating with oil has fallen below the
price of heating with natural gas 

E. the use of oil to heat homes has continued to decline, while the price of heating oil has fallen to 1970 levels 

Correct Answer: D 

Calling into question the prediction just means that you have to weaken the conclusion of the argument. The prediction
in this case is that it is unlikely that people will switch back to oil (from natural gas) in the near future. What evidence
does the author base this prediction on? The fact that many consumers switched to natural gas between 1970 and the
present, and that such a switch to natural gas involved investing in equipment. The author must be assuming that
investing in natural gas equipment makes it too expensive or too hard to switch back to using oil. The correct answer
choice, then, should do something to attack this assumption. D. does this by telling you that the cost of oil heating
equipment has fallen sharply (reducing the cost of switching back to oil) and the price of oil has fallen below the price of
gas (making it cheaper to heat your home using oil). Again, you don\\'t need to find an answer choice that suggests that
consumers will definitely switch back to oil. You just need the one that calls into question the prediction that they
won\\'t. 

 

QUESTION 5

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered
radium, an element widely used for treating cancer, and studied uranium and other radioactive substances. Pierre and
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Marie\\'s amicable collaboration later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw,
Poland, where her father was a professor of physics. At the early age, she displayed a brilliant mind and a blithe
personality. Her great exuberance for learning prompted her to continue with her studies after high school. She became
disgruntled, however, when she learned that the university in Warsaw was closed to women. Determined to receive a
higher education, she defiantly left Poland and in 1891 entered the Sorbonne, a French university, where she earned
her master\\'s degree and doctorate in physics. Marie was fortunate to have studied at the Sorbonne with some of the
greatest scientists of her day, one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many
productive years working together in the physics laboratory. A short time after they discovered radium, Pierre was killed
by a horse-drawn wagon in 1906. Marie was stunned by this horrible misfortune and endured heartbreaking anguish.
Despondently she recalled their close relationship and the joy that they had shared in scientific research. The fact that
she had two young daughters to raise by herself greatly increased her distress. Curie\\'s feeling of desolation finally
began to fade when she was asked to succeed her husband as a physics professor at the Sorbonne. She was the first
woman to be given a professorship at the world-famous university. In 1911 she received the Nobel Prize in chemistry for
isolating radium. Although Marie Curie eventually suffered a fatal illness from her long exposure to radium, she never
became disillusioned about her work. Regardless of the consequences, she had dedicated herself to science and to
revealing the mysteries of the physical world. 

________________ she remembered their joy together. 

A. Dejectedly 

B. Worried 

C. Tearfully 

D. Happily 

E. Sorrowfully 

Correct Answer: A 
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